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QUESTION 1

A solution developer needs to transform a message. As such, the solution developer needs to insert the content from a
input message tree into a storage area of Environment in one node, and then transform the message and Environment
in another node into the output message tree. To do so, what can the solution developer use?

A. Perl

B. ESQL

C. XSL Stylesheet

D. Graphical Data Mapping

Correct Answer: B

QUESTION 2

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed?

A. mgsilist

B. mqgsireadbar

C. mqsireportbroker

D. mgsireportproperties

Correct Answer: A

QUESTION 3

A solution developer needs to enhance a message flow with node information to aid in problem resolution, should there
be a failure within the flow. Consider the following flow, named "OrderProcess".
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In the 3 Comaute nodes, UpdateCrderDB, CreateShppinginfo and CalculstePrice, the solution developer inserts the following statemerts as the first
2 lines of ESGL:

SET DutputLocalEnviromment = InputLocalEnvironment;
SET IutputlLocalEnvironment.Node = NodeLshel;

The BuildError Compute, which is linked to the ORDERS.IM Catch termina , has the following ESGL added:

CREATE FIELD OubtputRoot.ZMLNSC.Fail.Location
VALUE MessageFlowLabel ||
LR 1

InputTLocalEnviromnent . Node;

On testing the flow, there is a failure within the CalculatePrice node.

What is the content of the Location tag in the message written to the ORDER.ERROR queue?
A.

B. OrderProcess.

C. OrderProcess.CalculatePrice

D. OrderProcess.CreateShippingInfoD.OrderProcess.Creat eShippinginfo

Correct Answer: A

QUESTION 4

An application sends a length encoded file that looks like the extract below. The first 3 bytes of each record indicates the
size of the data that follows it.
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A& solution developer creates 3 lineItem cOmplex type in the TaggedDelimited String (TDS) format with two co
data, 33 per the screen capture below,

PaymentFile . mxzsd

Struckure " Min Cccurs i Max Dccurs I
= LHE-I PaymrentFile, mxsd
B = Messages

=l [ File
B [E] lineltem 1 -1
[8] dakalength 1 1
[e] data 1 1
=l @ Twpes

=] lineTtem

B - e | P N
1 1

[] data

= fileType
B[] lineltem 1 -1
[8] datalength 1 1
(2] data 1 1

[ Rir—

If both of these elements have their Physical Type set to Text, which one of the following options must the solution
developer choose to correctly model the input data?

A. dataLength of type xsd:int A.dataLength of type xsd:int data of type xsd:int with Length Reference set to
dataLengthdata of type xsd:int with Length Reference set to dataLength

B. dataLength of type xsd:short B.datalLength of type xsd:short data of type xsd:string with Length Reference set to
dataLengthdata of type xsd:string with Length Reference set to dataLength

C. dataLength of type xsd:int C.dataLength of type xsd:int data of type xsd:string with Length Reference set to
dataLength and Inclusive Length Reference enableddata of type xsd:string with Length Reference set to dataLength
and Inclusive Length Reference enabled

D. datalLength of type xsd:string D.dataLength of type xsd:string data of type xsd:string with Length Reference set to
dataLength and Inclusive Length Reference enableddata of type xsd:string with Length Reference set to dataLength
and Inclusive Length Reference enabled

Correct Answer: B

QUESTION 5

A solution developer has deployed a message flow containing the DatabaseRetrieve node. The connection properties to
the database were created using the mqgsicreateconfigurableservice command. The solution developer has been told
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that the database is to be relocated to a different server. How should the connection properties be updated by the
solution developer to reflect the new server?

A. Run mgsisetdbparms.

B. Run mgsichangebroker.

C. Run mgsichangeproperties.

D. Use a context sensitive menu in the Broker view of the Toolkit.

Correct Answer: C
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